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A knot diagranﬂ €4 € C9g Cio €3 C7 Ci1  C2
Ideals for irreducible component#ﬂ)f Xpar

I = — w4 = 2u+ 1)

* 1 irreducible components of dim¢ = 0, with total 64 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I*=(ut* —ub®+... —2u+1)

(i) Arc colorings

o= 3)

0
ag = u
1
a4 == u2
—Uu
ag = \ —ud+u
w3
a0 = \ud —uP 4+ u
—ud +2ud —u
apl = w —ud+u
wb —ut+1
a3 = \u® —2ub 4+ 2u*
—ul® 4+ 4t — 7w 4+ 6u” — 2u° —u
ar = \uM —3uM +5u% —4u" +2u° —ud +u
—u? +6ut® + -+ 20 —w
a1 = \ ¢! — 54 + 130! — 200!® + 200’3 — 130 + 7w —4u” +3u® —ud 4+ u
ub? —13u*® -+ 1
ay = —u50—|—12u48—|—~~-+4u4—u2
u27—6u25—|—---—|—4u7—u3
ag = -7+ —uwd tu
W27 = 6u 4 4 duT — B
a6 = \ u? —Tu¥ 4. —udtu
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u%? + 60u® + --- + 4u — 6

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,Cs ubt —uS o —2u 1

C2 ub + 2905 + ... —16ut +1

€3 ub 4+ 3ub .+ 467u + 88

C4,C8 w4 US4+ 2w 41

‘6 ut w4 1lu+ 2
c7,C11 u —5u 4+ —32u+1

Co ubt — 3105 + .. 160t + 1

10 ubt —u®B 4 —8u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs Y% 429958 ... — 16yt + 1
Ca YOt 13058 4 - 322 4+ 1
€3 YO +21y% .. + 151687y + 7744
c4,Cs Y% —31y% + ..+ 16yt + 1
Co ¥t — 3453 4 ... — 213y + 4
c7,C11 Y 44995 + ... — 160y + 1
Co YO 588 4 1322 41
c10 Y+ 32y 41




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1C)

Cusp shape

—0.939104 + 0.3392051

1.65512 — 0.974151

3.52790 + 1.047121

—0.939104 — 0.3392051

1.65512 + 0.974151

3.52790 — 1.047121

0.844956 + 0.5455281

0.03472 — 3.654501

—2.09839 + 2.070401

0.844956 — 0.5455281

0.03472 + 3.654501

—2.09839 — 2.070401

—0.784786 + 0.5203231

1.84271 — 1.151461

1.38817 + 3.130131

—0.784786 — 0.5203231

1.84271 + 1.151461

1.38817 — 3.130131

0.925067 + 0.1562591

—0.18490 — 3.015231

0.51085 + 4.088681

0.925067 — 0.1562591

—0.18490 + 3.015231

0.51085 — 4.088681

0.691782 + 0.6179951

—0.43420 4 8.267741

—3.18319 — 8.314951

0.691782 — 0.6179951

—0.43420 — 8.267741

—3.18319 + 8.314951

0.948812 4 0.5107061

1.98631 + 3.100781

—5.45245 — 3.889791

0.948812 — 0.5107061

—1.98631 — 3.100781

—5.45245 + 3.889791

—0.701071 4 0.5910631

1.52804 — 3.284391

0.17422 + 4.067301

—0.701071 — 0.5910631

1.52804 + 3.284391

0.17422 — 4.067301

0.622278 + 0.5852661

—2.93619 + 1.297221

—7.30833 — 2.920671

0.622278 — 0.5852661

—2.93619 — 1.297221

—7.30833 + 2.920671

= —1.071540 + 0.4149931 2.79512 — 1.455881 0
= —1.071540 — 0.4149931 2.79512 4 1.455881 0
= —1.122750 + 0.2789481 2.73183 + 0.057601 0
= —1.122750 — 0.2789481 2.73183 — 0.057601 0
= —1.036170 + 0.5506521 —3.04852 — 2.036691 0
= —1.036170 — 0.5506521 —3.04852 + 2.036691 0

0.294713 + 0.7721951

1.49417 — 10.137401

—1.81004 + 7.034161

0.294713 — 0.7721951

1.49417 + 10.137401

—1.81004 — 7.034161

1.090790 + 0.4615421

2.45432 4 5.709941

0

1.090790 — 0.4615421

2.45432 — 5.709941

0

—0.284380 + 0.7634431

3.48322 + 4.956581

1.27407 — 2.784031

—0.284380 — 0.7634431

3.48322 — 4.956581

1.27407 + 2.784031

—1.156900 + 0.2626341

5.97549 + 7.095101

0

eI ||| ||| (g|e|g g2 |e2|g|g|g|”f|g|g|g|g|g|g|g |

—1.156900 — 0.2626341

5.97549 — 7.095101

0




Solutions to I V—1(vol + /—1CS) Cusp shape
= 1.154850 + 0.2736541 7.87867 — 1.877991 0
= 1.154850 — 0.2736541 7.87867 4+ 1.877991 0

—0.487387 4 0.6454721

—4.65712 — 2.645561

—8.69821 + 3.841561

—0.487387 — 0.6454721

—4.65712 4 2.645561

—8.69821 — 3.841561

= 1.064500 + 0.5358081 0.17913 + 5.318021 0
= 1.064500 — 0.5358081 0.17913 — 5.318021 0
= 1.154460 + 0.3020031 8.21168 + 1.002891 0

1.154460 — 0.3020031 8.21168 — 1.002891 0
= —1.155880 + 0.3151081 6.59460 — 6.192831 0
= —1.155880 — 0.3151081 6.59460 + 6.192831 0

—0.423078 4- 0.6781551

—4.36286 + 4.569711

—7.67331 — 4.883141

—0.423078 — 0.6781551

—4.36286 — 4.569711

—7.67331 4 4.883141

0.304810 + 0.7319681

—1.50287 — 2.923291

—5.31775 + 2.366891

0.304810 — 0.7319681

—1.50287 + 2.923291

—5.31775 — 2.366891

= —1.070330 + 0.5583961

—2.47375 — 9.357881

0

—1.070330 — 0.558396.1

—2.47375 + 9.357881

0

—0.248813 4 0.7438111

4.02540 + 2.216501

2.22128 — 2.476271

—0.248813 — 0.7438111

4.02540 — 2.216501

2.22128 4-2.476271

0.226658 + 0.7361001

2.50217 4 2.887191

—0.11514 — 2.733671

0.226658 — 0.7361001

2.50217 — 2.887191

—0.11514 + 2.733671

0.421396 + 0.6170381

—1.69065 — 0.752911

—4.16901 + 1.043851

0.421396 — 0.6170381

—1.69065 + 0.752911

—4.16901 — 1.043851

S| g|g|g || |g(e|g|e g2 |e|g|g|g|g|e|g|g|g|g|g|ge =

= 1.126510 + 0.5509421 0.88876 + 7.794591 0
= 1.126510 — 0.5509421 0.88876 — 7.794591 0

1.142880 + 0.5284991 5.14617 4 1.865551 0
= 1.142880 — 0.5284991 5.14617 — 1.865551 0
= —1.141810 + 0.5373191 6.61499 — 7.037081 0
= —1.141810 — 0.5373191 6.61499 + 7.037081 0
= —1.140370 + 0.5533251 5.98813 — 9.904851 0
= —1.140370 — 0.5533251 5.98813 +9.904851 0




Solutions to I} Vv—1(vol + /—1CS) Cusp shape
= 1.140530 4 0.5588561 3.9773 + 15.13271 0
= 1.140530 — 0.5588561 3.9773 — 15.13271 0

0.109376 + 0.5271511

—0.08646 — 1.824431

—0.12496 + 3.836581

SRS ESEES

0.109376 — 0.5271511

—0.08646 + 1.824431

—0.12496 — 3.836581




II. u-Polynomials

Crossings u-Polynomials at each crossing

C1,Cs5 bt — w21

C2 u 4+ 2903 + ... — 16ut +1

€3 u® 4+ 3u + -+ 46Tu + 88

c1,c8 uSt 4w o 2u 1

€6 w4+ u® o 1lu -2
c7,C11 ubt —5u% . = 32041

€ u® —31u% 4 4 160t + 1

C10 ut — % 4~ Sut 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1,¢5 Yot +29y% - — 16yt + 1

€2 Yo+ 13y 4+ 327 4+ 1

€3 Y% +21y% + . + 151687y + 7744

C4,Cs Y% —31y% + ...+ 16yt + 1

6 YOt —3y5 ... — 213y + 4
7, c1t Yot + 49453 + ... — 160y + 1

Co v 5% 4 1322 1 1

c10 Y5+ 4 132y + 1




